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gkbZ Ldwy lVhZfQdsV ijh{kkgkbZ Ldwy lVhZfQdsV ijh{kkgkbZ Ldwy lVhZfQdsV ijh{kkgkbZ Ldwy lVhZfQdsV ijh{kkgkbZ Ldwy lVhZfQdsV ijh{kk

High School Certificate Examination
lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=lsEiy&iz'u i=

SAMPLE PAPER
fo"k; %&fo"k; %&fo"k; %&fo"k; %&fo"k; %& (Subject) - lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk le; 3 ?k.Vk (Time- 3 Hrs)
d{kk %&d{kk %&d{kk %&d{kk %&d{kk %& (Class) - nloha ¼10oha½nloha ¼10oha½nloha ¼10oha½nloha ¼10oha½nloha ¼10oha½ iw.kkZad 100 iw.kkZad 100 iw.kkZad 100 iw.kkZad 100 iw.kkZad 100 (M.M.)

Set - C

Instruction     & funsZ’k& funsZ’k& funsZ’k& funsZ’k& funsZ’k

1- lHkh iz'u gy djuk vfuok;Z gS A

Attempt all the Question
2- iz'u Øekad 01 esa 10 vad fu/kkZfjr gS A nks dky[k.M gS A [k.M ^^v** esa 05

cgqfodYih; iz'u rFkk [k.M ^^c** esa 05 fjDr LFkkuksa dh iwfrZ vFkok mfpr

laca/k tksfM, A izR;sd iz'u ds fy, 1 vad vkcafVr gS A

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

3- iz'u Øekad 02 ls iz'u Øekad 09 rd vfr y?kqmRrjh; iz'u gS A izR;sd iz'u

ij 02 vad vkcafVr gS A mRrj dh vf/kdre 'kCn lhek 30 'kCn A

Q. No. 2 to 09 are very short answer type question & it carries 02 marks
each. Word limit is maximum 30.

4- iz'u Øekad 10 ls iz'u Øekad 15 rd y?kqmRrjh; iz'u gS A izR;sd iz'u ij 03

vad vkcafVr gS A mRrj dh vf/kdre 'kCn lhek 50 'kCn A

Q. No. 10 to 15 are short answer type question & it carries 03 marks
each. Word limit is maximum 50.

5- iz'u Øekad 16 ls iz'u Øekad 21 rd y?kqmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 04 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 75 'kCn A

Q. No. 16 to 21 are short answer type question & it carries 04 marks
each. Each question has internal choice. Word limit is maximum 75.



218
virendra

6- iz'u Øekad 22 ls iz'u Øekad 25 rd nh?kZmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 05 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 100 'kCn A

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.

7- iz'u Øekad 26 ls iz'u Øekad 27 rd nh?kZmRrjh; iz'u gS A izR;sd iz'u esa

vkarfjd fodYi gS vkSj izR;sd iz'u ij 06 vad vkcafVr gS A mRrj dh vf/kdre

'kCn lhek 150 'kCn A

Q. No. 26 to 27 are long answer type question & it carries 06 marks
each. Each question has internal choice. Word limit is maximum 150.
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^^lsEiy iz'u**^^lsEiy iz'u**^^lsEiy iz'u**^^lsEiy iz'u**^^lsEiy iz'u**

d{kk 10oha] fo"k;& lkekftd foKkud{kk 10oha] fo"k;& lkekftd foKkud{kk 10oha] fo"k;& lkekftd foKkud{kk 10oha] fo"k;& lkekftd foKkud{kk 10oha] fo"k;& lkekftd foKku

iz'u 1&¼v½ lgh fodYi pqfu, & (1x5)

choose the correct alternatives :-

(i) izFke fo'o ;q) lekIr gqvk &

(a) 1917 (b) 1918

(c) 1920 (d) 1919

World war-I was ended in -
(a) 1917 (b) 1918
(c) 1920 (c) 1919

(ii) olkZ; dh laf/k gqbZ&

(a) 28 twu 1919 (b) 1 uoEcj 1918

(c) 28 tuojh 1920 (d) 25 Qjojh 1917

Treaty of Versailles -
(a) 28 June 1919 (b) 01 November 1918
(c) 28 January 1920 (d) 25 February 1917

(iii) usg: jkstxkj ;kstuk dk rkRi;Z gS &

(a) 50 ls 100 fnu jkstxkj (b) 40 ls 60 fnu jkstxkj

(c) 80 ls 120 fnu jkstxkj (d) iwjs o"kZ Hkj jkstxkj

The meaning of Nehru Rozgar Yojna is -
(a) Employment from 50 to 100 days
(b) 40 to 60 days employment
(c) 80 to 120 days employment

(d) One year employment

(iv) 1939 esa fczVsu ,oa phu ds chp ;q) dks ekuk tkrk gS &

(a) cDlj dk ;q) (b) izFke vQhe ;q)

(c) Iyklh dk ;q) (d) f}rh; vQhe ;q)

The war between Britain and China in 1939 is known as -
(a) Buxer war (b) First Opium war
(c) Plassey war (d) Second Opium war
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(v) lwpuk vf/kdkj vf/kfu;e ykxw gqvk &

(a) 2006 (b) 2001

(c) 2009 (d) 2005

Write for Information Act implimented on -
(a) 2006 (b) 2001
(c) 2009 (d) 2005

¼c½ fjDr LFkkuksa dh iwfrZ dhft, (1x5)

Fill in the blanks :-

(i) ftu m|ksx dk LokfeRo o izca/k ljdkj dk gksrk gS mls -------------- dgrs gS A

The industry which owend and manaaged by government is called .......................

(ii) la;qDr jk"Vª la?k dh LFkkiuk ------------------- gqbZ A

Waited Nations Organisation is established in .................... year.

(iii) ikf.kuh xzaFk ^v"Vk/;k;h* tks ------------------------- dk izfl) gS A

Panini sculpture A stadhyayi is famous for .........................

(iv) euq"; LoHkko ls gh ,d ------------------------ izk.kh gS A

Human is a ........................... animal by nature

(v) Hkkjr esa tula[;k o`f) dk izeq[k dkj.k ------------------------- gS A

............................ is the main cause of the growth of population in India.

iz'u 2& miHkksDrk cpr ds fl)kar dks oSKkfud :i fdlus fn;k A ¼2½

Who gave scientific feature to the principle of consumer surplus ?

iz'u 3& Hkkjr esa vkus okyh izeq[k pkj ;wjksih; tkfr;ksa dk uke fyf[k, A (½x4)

Write the name of important european eastes which came India.

iz'u 4& fu'kL=hdj.k dh vko';drk D;ksa iM+h ¼2½

Why did we need de-armament ?

iz'u 5& xqIr dky ds pkj lkfgR;dkjksa ds uke fyf[k, A (½x4)

Write name of important writers of Gupta period.
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iz'u 6& oSfnd dky esa fL=;ksa dh n'kk dSlh Fkh \ Li"V dhft, A ¼2½

Explain the condotion of women in Vedic period.

iz'u 7& Je foHkktu dh nks gkfu;k¡ fyf[k, A ¼1$1½

Write two disadvantages of Labour division.

iz'u 8& iz'uksRrj dky ls vki D;k le>rs gSa \ ¼2½

What do you understand by question answer period ?

iz'u 9& ^^vusdrk esa ,drk Hkkjrh; laLÑfr dh fo'ks"krk gS A** Li"V dhft, A ¼2½

'Unity in diversity is the characteristic of Indiain culture : Explain.

iz'u 10& n{ksl dh LFkkiuk dc gqbZ A blesa lfEefyr lnL; ns'kksa ds uke fyf[k, A ¼1$2½

When did 'SAARC' establish. Write the name of member countries.

iz'u 11& jkT;lHkk dks LFkk;h lnu D;ksa dgrs gSa \ ¼3½

Why do Rajyasabha call permanent house ?

iz'u 12& Je foHkktu dk D;k vFkZ gS \ ¼3½

What is the meaning of Labour division ?

iz'u 13& NRrhlx<+ ds xzkeh.k os'kHkw"kk dk o.kZu dhft, A ¼3½

Describe the rural dresses of Chhattisgarh.

iz'u 14& tula[;k o`f) dks jksdus okyk dksbZ rhu iz;klksa dks fyf[k, A (1x3)

Write the idea to stop the growth of population.

iz'u 15& miHkksDrk dh cpr dks rkfyrk }kjk Li"V dhft, A ¼3½

Explain the consumer surplus by table.

iz'u 16& f}rh; fo'o ;q) esa teZuh ijkt; ds D;k dkj.k Fks \ dksbZ pkj A ¼1x4½

What was the reason of deofeat of Germany in World war-II ?

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

iyZ gcZy dh ?kVuk dk mYys[k dhft, A ¼4½

Describe the incidence of Pearl Herbal.

iz'u 17& xjhch dh ifjHkk"kk ,oa xjhch ds dkj.kksa dks fyf[k, A ¼1$3½

Define poverty and write its three reasons.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR
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csjkstxkjh dk vFkZ ,oa csjkstxkjh ls mRiUu rhu leL;kvksa dks fyf[k, A ¼1$3½

Write meaning of umemployment and three problems arose by it.

iz'u 18& gfjr Økafr fdls dgrs gSa \ gfjr Økafr ds rhu ifj.kkeksa dks le>kb;s A ¼1$3½

What is green revolution ? explain three result of it.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

pdcanh ls vki D;k le>rs gSa \ pdcanh gksus okys rhu ykHkksa dks fyf[k,A¼1$3½

What do you mean by Chuckbandi ? Write its three advantages.

iz'u 19& Hkkjr esa oL= m|ksx vkSj ykSg bLikr m|ksx esa pkj varj fyf[k, A

Write difference between cotton industry and Iron and steel industry.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

Ñf"k ij vk/kkfjr m|ksx ,oa [kfut ij vk/kkfjr m|ksxksa dh dksbZ pkj fcUnqvksa

esa rqyuk dhft, A ¼1x4½

Compare the industry based on agriculture and mineral.

iz'u 20& a,f'k;k vkSj vfÝdk egk}hi es ajktuSfrd iquZtkxj.k ds D;k dkj.k Fks \

le>kb;s A ¼1x4½

Explain the reason of political renaissance of Asia and Africa continent.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

fo'o 'kkafr dh LFkkiuk gsrq la;qDr jk"Vª la?k ds mn~ns'; dgk¡ rd lgk;d gS \

How the porpose of UND helps to establish the world peace ?    (4)

iz'u 21& lkekftd fodkl esa ck/kd pkj dkj.kksa dks Li"V dhft, A ¼1x4½

Explain four factors that protest social development.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

ukjh ds fodkl gsrq fd, tkus okys pkj mik;ksa dks Li"V dhft, A ¼1x4½

Explain four ideas for the improvement of women.

iz'u 22& mu ifjfLFkfr;ksa dk mYys[k dhft, ftuds dkj.k ,f'k;k rFkk vÝhdk esa

lkezkT;okn dk fodkl gqvk A  ¼1x5½

Describe the condition by which imperialism rose in Asia and Africa.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR
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vkS|ksfxd Økafr ls lkekftd ,oa vkfFkZd thou ij iM+us okys izHkkoksa dk mYys[k

dhft, A ¼1x5½

Describe the effects of social and economical lives due to industrial revolution.

iz'u 23& jk"Vªifr ds 'kfDr;ksa dk mYys[k dhft, A ¼1x5½

Describe the condition by which imperialism rose in Asia and Africa.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok**  OR

uxj ikfydk v/;{k dks dkSu&dkSu ls dk;Z djus gksrs gSa \ Li"V dhft, A¼1x5½

Explain the work of the chairperson of municipal council.

iz'u 24& mtkZ ds uohu lalk/kuksa dks mnkgj.k lfgr le>kb;s A ¼1x5½

Explain with example the new resources of energy.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

mtkZ lalk/ku ij ,d ys[k fyf[k, A ¼1x5½

Write an essay on energy resource.

iz'u 25& Hkkjr ds ekufp= esa fuEu dks vafdr dhft, & ¼1x5½



224
virendra

(i) ckEcsa gkbZ]  (ii) 82½ iwoZ ns'kkarj] (iii) dkosjh unh

(iv) lkaHkj >hy (v) lriqM+k ioZr

Show the following in the Map of India.

(i) Bombay Hagh, (ii) 82 ½ east longitude

(iii) Kaveri river (iv) Sambhar Lake (v) Satpuda hill

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

(i) cSykMhyk] (ii) Hkk[kjk uaxy cka/k] (iii) fpYQk >hy

(iv) dkathjaxk jk"Vªh; m|ku (v) ddZ js[kk A ¼1x5½

(i) Bailadila (ii) Bhakhara Nangal Dam (iii) Chilfa Lake

(iv) Kanjiranga National Park (v) Line of Cancer

iz'u 26& Qklhokn dh fo'ks"krkvksa dks fyf[k, A ¼1x6½

Write the cahrateristics of Fascism.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

f}rh; fo'o ;q) ds dkj.kksa dks le>kb;s A ¼1x6½

Explain the reasons of World war-II.

iz'u 27& ^Ñf"k Hkkjr dh vkRek gS bls Hkkjrh; vFkZO;oLFkk dk vk/kkj D;ksa ekuk tkrk gS\

le>kb;s A  ¼1+5½

Agriculture is the soul of India why it is treated as a base of Indian economy.

Explain.

^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** ^^vFkok** OR

ou dks jk"Vª dk vewY; /ku ekuk tkrk gS A foospuk dhft, A ¼1+5½

Forest is a precious wealth of a nation. Discuss.
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